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QUESTION 1 (10 Marks)
1. Explain what is meant by the following accounting concepts:
i. The historic concept principle
. Objectivity
iii. The going concern assumption

2. |dentify the FOUR items that cause owner’s equity to change.

QUESTION 2 (20 Marks)
The following trial balance was extracted from the books of BOB on 31 March 2018:

DR CR

N$ N$
Premises 50 000
Motor vans 7 400
Sundry receivables 1680
Sundry payables 2 385
Purchases 160 260
Sales 190 755
Wages 12 000
Drawings 1600
Capital 30 000

232 940 223 140

As the trial balance totals did not agree, the difference was posted to a suspense
account. The following errors were discovered:

I.  The sales day book has been added up incorrectly. One month'’s sales had been
recorded as N$8 600 instead N$28 600.

II.  Payment by cheque of N$26 800 was recorded in the debit of the bank account
as N$6 800.

lll. A withdrawal of N$14 000 by the proprietor was debited to the wages account.
IV.  The returns inwards of N$5 400 were recorded in the debit of the returns
outwards account for N$14 400.
V.  The purchases account was under cast by N$32 800.
Required:

Take the above information into account and show:
1. The journal entries to correct the errors. (14 marks)

2. Write up the suspense account showing the correction of the errors.
(6 marks)




QUESTION 3 (20 Marks)
The balances on the personal ledger control account of Wana Ltd at 31st December
2017 were as follows:

Creditors N$ 56 900
Debtors N$ 97 550

The following transactions took place during 2018:

Total purchases 194 000
Total sales 251 000
Cash purchases 6 000
Cash sales 5000
Returns inward 500
Returns outward 900
Cheque dishonoured from credit customer 1 000
Noting charges on dishonoured cheque from credit customer 50
Payments to creditors 110 000
Receipts from cash and credit sales 180 000
Receipts from bad debts recovered 2 000
Bad debts written off 5 500
Refunds of credit customers' overpayments 700
Refunds given to cash customers 330
Allowances to trade debtors on goods damaged 900
Interest charged to credit customers 200
Cash received in respect of debit balances in purchases ledger 600
Balance in the sales ledger set off against balance in the purchases

ledger 2 500
Required:

(a)Prepare the accounts receivable control account. (13 marks)
(b) Prepare the accounts payable control account. (7 marks)



QUESTION 4

(30 Marks)

Steward and Armstrong are in partnership sharing profits and losses in the ratio: 3:2.

The following trial balance was extracted as at 31 December 2017.

Dr Cr

N$ N$
Office equipment at cost 14 550
Motor vehicles 78 900

Accumulated depreciation at 31 December 2016:

Motor vehicles 32 000

Office equipment 4 200
Inventory at 31 December 2016 3 240

Accounts receivable and Accounts payable 4 500 3780
Cash at bank 2 450

Returns outwards 350

Sales 138 480
Purchases 81 500
General expenses 1300
Rates and Taxes 1890
Discounts allowed 1020
Insurance 565
Carriage inwards 2900
Carriage outwards 3190

Discount received 2 390
Drawings: Steward 9 060
Armstrong 6 040

Interest received 250
Bad debts 370

Provision for bad debts 185
Investment 32 000
Returns inwards 170
Wages 12 300

Capital accounts: Steward 32 590

Armstrong 21720

Current accounts: Steward 15 000

Armstrong 5 000

255 945 | 255 945
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Ad(ditional information:

Q).
(ii).
(i).

(iv).
(V).
(vi).
(vii).
(viii).

Required:

&

Inventory 31 December 2017 N$3 890

Rates paid in advance N$240 as at 31 December 2017

Depreciate Motor vehicle at 20% of the reduced balance and office equipment
10% on straight line method, with no residual value.

Interest on capital is charged at 10% per annum

Interest on drawings is charged at 5% of total drawings

Adjust the provision for Bad Debts to 5% of Accounts receivable

Insurance owing N$120 as at 31 December 2017

Partnership salary: Armstrong N$250 per month

Prepare adjusting (adjustments) journals for all the above items
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